N EIE AN AR EMSSEBERICE T 5 ORI T 2l (B 3 FEFR)

(A5 B (o3 2 B AT 1B 3 2 B2 DRI B L <]

L. SR L 722978& < b0 2 10t - BIr@E ofla (2 - 3 FE%ER)

N it %= bR A S i =&t
s AL 274 B4 &t D EIES 2z B4 =t 2z D FEE 22 B 5 ZZ M D EIES
5 A=] 0 0 0 0% 2 0 2 100% 2 0 2 100%
HEHEET 0 (6] (0] 0% (0] 1 1 0% 0 1 1 0%
R2 FEE JEFEFHVEEE 0 0 0 0% 0 0 0 0% 0 0 0 0%
I = 0 0 0 0% 0 0 0 0% 0 0 (0] 0%
&t (6] 0 0 0% 2 1 3 67% 2 1 3 67%
E54=) 4 2 6 67% 1 1 2 50% 5 3 8 63%
R 3 4R ﬁ?f]”ﬁ%ﬁ_ 0 0 0 0% 0 2 2 0% 0 2 2 0%
JEE EHVEEE 0 0 0 0% 0 0 0 0% 0 0 0 0%
[T =} 1 0 1 100% 0 1 1 0% 1 1 2 50%
&Et 5 2 7 71% 1 4 5 20% 6 6 12 50%
2. S D 3 LS E ORlG (BTIREIRE)
7 DS
=Y ] 51%
R T 25%
IEEEIRSE 60%
=] 50%
g 100%
&5t 58%
(RSEAEGE & KIEATE L Ol IcE T 2 EABREOBICEE L <)
3. 10 FHH#EEE X U2 OHIROFEEEL ICH 2R S N E o Bk E RS E (B 3 EEHEE)
wos | mem ¥ RR224E ¥ RR23EE ¥Rk 2ALEE SEEFEAH
7 - A | mEoams [ MEEBE| ML |Rrontk | RERAR| ALK |seorsss|BEEAR| AN | BEotcsk | REERS
Eegad 2 2 100% 1 100% 0 0 0.0% 3 3 100.0%
Jisg=} B 3 2 67% 1 50% 0 0 0% 5 3 60%
= 5 4 80% 2 67% 0 0 0% 8 6 75%




